
min 910mm

max 1560mm

60kg(132lbs)

MOTORIZED TV CARTS
XTR-FS5020 / XTR-FS5030 / XTR-FS5040

INSTALLATION MANUAL





P-1 (x1) P-2 (x1)

P-3 (x1)

P-14 (x2)P-13 (x1) P-16 (x1)P-15 (x2)

4mm (x1)

H

6mm (x1)

I

P-5 (x1)

P-10 (x1) P-11 (x2)

P-4 (x1)

2

M5x14 (x4)

M-A

M6x14 (x4)

M-B

M6x30 (x4)

M-C

M8x30 (x4)

M-D

(x4)

M-F

(x8)

M-G

(x8)

M-H

M8x50 (x4)

M-E

P-12(x1)

J (x10)

A (x4) C (x12)B (x4) D (x4) E (x4) F (x2)

G (x2)

P-8 (x2)P-7 (x1)

P-6 (x1)

P-9 (x2)

P-18 (x1) P-20 (x1)P-17 (x1)

14mm (x1)

L

10mm (x1)

K

P-19 (x2)

  WARNING Read this before you start.
• Do not plug into a powersocket until the manual says so. This is important for proper 
   matching remote control and receiver (see page 14).

• Secure the TV stand's tilt system properly before placing the TV. This is indicated in the 
   manual and prevents unwanted tilting of the TV and TV stand.



2

3

P-14

P-14

P-15

P-15

P-3

L

I

A
P-1

P-3



3

4

4

P-4

D

H

G

I

P-18

P-4



5

6

5

1

2

P-16

P-17

P-17

P-18

2

3

1

3

J

P-16

P-1

Perform the matching remote and receiver procedure from page 14.

Anlernen der Fernbedienung: siehe Seite 14 / 15



P-2

7

6

E

P-11

H



P-5

8

7

P-5

H

B



9a

9b

8

P-9

M-G

M-F

M-C
M-D

M-H

M-F

M-E

M-H

M-G

M-F

M-E

M-H

M-G
M-F

M-C
M-D

M-H

M-F

M-C
M-D

P-9

M-H

M-G
M-F

M-E

M-F

M-A
M-B

M-G



9

10

11

C

P-19

H

H

P-8

C



10

12

13

FP-6

H

P-7



14

11

15

P-12

H

C

H

P-10

P-7

C

Note:

Please install the tray after the TV is raised or lowered to the appropriate 

height to avoid the tray being too close to the TV to a�ect user experience.

Hinweis:

Bitte installieren Sie die Ablage erst nachdem das Fernsehgerät auf die 

niedrigste Position abgesenkt wurde, so dass ein reibungsfreier Bewe-

gungsablauf sicher gestellt werden kann. 



16

12

J



17

+5°

-5°

WARNING
Please do NOT touch the tray

 while lowering down the TV.

Achtung
 Während der Fernseher nach 

unten fährt, berühren Sie 

NICHT die Ablage, um Ver-

letzungen vorzubeugen.

13

+5°

-5°
K

K

If the TV cannot hold still, please kindly tighten these 3 screws.

Wenn das TV sich neigt, die 3 Schrauben etwas anziehen.



14

Remote Control Manual

Matching

Reset
When the lifting leg is stopped, long press and hold the "RST" button 

on the remote control for 3 seconds, the driver will emit a long beep, 

indicating that it will automatically enter the reset state, the lifting 

leg will automatically drop to the lowest end and rebound 1cm, and 

the driver will emit two long beeps., indicating that the reset is 

complete.

Height adjustment

Press the "△" and "�" buttons on the remote control to adjust the 

height of the lifting leg;

Short press the "HOME" button, the lifting leg will automatically 

return to the lowest position, and press it again to stop running.

Location memory

Long press the "M1" button or "M2" button on the remote control 

for 3 seconds, the drive will emit a long beep, indicating that the 

current position is successfully memorized;

Short press the "M1" or "M2" button, the lifting leg will automatical-

ly move to the memory position;

While using the product for the �rst time, please do the matching 

operation. 

First, please make sure the product is unplugged, long press "SET" 

button for at least 2 seconds to enter the code matching state. Then 

plug in the power plug while still pressing the "SET" button, and 

complete the matching operation.

Do above steps again to clear the code. 



15

Fernbedienung

Einrichten

Reset
Stoppt die Höhenverstellung unvorhergesehen, halten Sie die Taste “RST“ 
auf der Fernbedienung ca. 3 Sekunden lang gedrückt. Es ertönt ein langer 

Piepton, der den automatischen Wechsel in den Reset-Status andeutet. Der 

Hubmechanismus fährt zunächst zur tiefsten Position und anschließend um 

ca. 1 cm wieder herauf. Es ertönen zwei lange Pieptöne, die den Abschluss 

des Reset-Vorgangs bestätigen.

Höheneinstellung
Durch Drücken der Tasten "△" und "▽" auf der Fernbedienung, erfolgt die

Einstellung der Höhe.

Ein kurzer Druck auf die "HOME"-Taste bewegt den Hubteil in die niedrigste 

Position. Bei erneutem Drücken wird das Herunterfahren gestoppt.

Positionsspeicher
Um die aktuell eingestellte Höhe des TV-Ständers zu speichern, muss die 

Taste "M1" bzw. "M2" für 3 Sekunden gedrückt werden; es ertönt ein langer 

Piepton, der den Speichervorgang bestätigt

Durch kurzes Drücken der Taste “M1“ oder “M2“ wird die gespeicherte Höhe 

eingestellt.

Führen Sie bei der ersten Verwendung des Produkts den Abgleich durch. 

Achten Sie darauf, dass das Produkt nicht an die Stromquelle angeschlossen 

ist. Drücken Sie ca. 2 Sekunden lang die Taste “SET“ auf der Fernbedienung, 

um in den Einrichtungsmodus zu gelangen. Schließen Sie nun bei weiterhin 

gedrückter "SET" Taste die Stromquelle an, um den Einrichtungsvorgang ab-

zuschließen.

Führen Sie die oberen Schritte erneut aus, um Code zu löschen. (Ein Antrieb 

kann bis zu 9 Fernbedienungen gleichzeitig koppeln. Bei Überschreitung der 

Anzahl wird der Kopplungsstatus der ersten Fernbedienung überschrieben.)


